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@Zc*]:
ÎZßV»�Z[�b Óx�VÐ CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

ÑiòìX
ÑiòìXCÙÎZwÆa ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[ 10~ zZzw .1

 (10 x 1 = 10 Marks) ��ìX  1

/V6,�ìX (200) ~WJÎZÑ]�XZk~Ð¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ z�zx .2

 (5 x 6 = 30 Marks) �Z]��X 6 CÙÎZwÆa
/V6,� (500) ~0*õÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã0*õÎ zÎx .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa ìX

zZzw
1 : ÎZw

ìX Worst-case Time Complexity Å Quick Sort (i)

O (nlogn) (d) O (n) (c) O (logn) (b) O(n2) (a)

ZEwÅYCì? Sorting Method ÆaÃyÏ External Sort (ii)

None (d) Radix Sort  (c) Merge Sort  (b) Quick Sort (a)

Breadth First Search (iii)

Scans each incident node along with its children (a)

Scans all incident edges before moving to other node (b)

None (d) Is same as back tracking (c)

z�Ü©8ìX NP-Class Sorting Algorithm (iv)

O (n)  (d) O (n2) (c) O (logn)  (b)  O (1) (a)

ìZzg NP-Hard, iff LìNP Complete, L Zq-X (v)

A problem L is NP-complete iff L is NP-Hard and ...........

L = NP  (d)  (c)  (b) (a)

ìX Time ComplexityÅ Counting Sortþ (vi)

Ãð7    (d) O(n2)  (c) O (n+k)  (b) O(n) (a)

ÅãC�6,ì? Method¾ Prim's Algorithm (vii)

Gready  (b) Divide and Conquer (a)

Branch and Bound  (d) Dynamic Programming (c)

P.T.O



Hì? Splay Trees (viii)

Self Adjusting Binary Tress  (b) Self Adjusting Binary Search Tress (a)

None  (d) A Tree with Probability Distributions (c)

ìX Worst Case Complexity Å Robin-Karp Algorithm (ix)

None  (d) O (n2m2) (c) O (n+m)  (b) O (nm) (a)

ìX Worst Case Complexity Å KMP Algorithm (x)

None  (d) O (n+m)  (c) O (nm)  (b) O (n) (a)

z�zx
»ZEw�D�ñi�z Master Method .2

Recurrence :

Worst Case Time Zzg Average Case, Best Case �zX Sort Ã Array »ZEw�D�}�b� Cocktail Sort .3

Hì? Complexity

5 1 4 2 8 0 2

Initially empty Ã keys 41,38,31,12,19,8 H�ÇZ¤/ Result »  Red Black Trees Hì? Red-black Tree .4

�Zc*YñX Successively Insert~ Red-black tree

�zX Define Ã Splay Tree .5

�3NXZzg Tree Æ� Insertion �3NXCÙZq- Result �Z�  Insert Ã Values 2,1,4,5,9,3,6,7~ Empty Splay Tree

�zX ShowÌ Rotation CÙZq-
Hì? Complexity Åz�s#�zX WorkingÆ Tarjan's Algorithm Æfg) Graph �b� .6

�zX Find Ã Common Subsequence Å 'AGCTA' Zzg 'ACGT' .7

�zX Implement Ã Boyer-Moore Algorithm 6,Text and Pattern �b� .8

Text = 2 1 3 2 3 4 2 2 1 3 4 5 6 1

Pattern = 2 3 4 2



�zZzgCÙZq-ÅVwÌ�zX Define Ã NP Complete Zzg NP Hard, NP .9

zÎx
�zX Sort Ã Array »ZEw�D�ñ�b� (b) Counting Sort Zzg (a) Shell Sort .10

Array: 0 4 6 3 1 2 4 1 1

¯NX AVL Tree ÆaZq- List �@*ìX�b� Differ Ðù B-Tree, AVL Tree z�s#�z� .11

List  = (5, 4, 3, 2, 1, 6, 7, 8, 9, 10)

�3NX Johnson's All Pairs Shortest - Paths Algorithm Æa Graph �b� .12

�z Define Ã Rabinkarp Algorithm .13

For string matching modules q=11, how many spurious hits does the Rabinkarp matcher encounter

in the test T = 314159265358 9793, when looking for pattern P=26

Æ Vertex Cover - Approx Æa Undirected Graph G �zX�b� Define Ã Approximation Algorithm .14

�zX Show Ã Operation

///


